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General Instructions :
1. Question paper comprises five Sections — A, B, C, D and E. There are 32 questions in the question paper. All

questions are compulsory. YT T ¥ T G A & — T, T, €T, ¥ i 21 17 T § 32 w7 g1 7t wor
AT &

2. Section A — Question no. 1 to 16 are Objective Type Questions of 1 mark each. € T - T H&ATI 1 7 16
FEIY TR & T 2

3. Section B — Question no. 17 to 22 are short answer type questions, carrying 3 marks each. Answer to each
question should not exceed 80 words. STTHTT &t - W H&ATI 17 & 22 T 3L T & T4 5, o+ & T3+ §
3 37 | TeUF T T 3 80 9Tsal & AT Al g1 AT

4. Section C — Question no. 23 to 26 are source based questions, carrying 4 marks each. SIT@TRT &t - w1
TEAT| 23 F 26 BT AT W g, ™AH & I+ § 4 37 2

5. Section D — Question no. 27 to 31 are long answer type questions, carrying 5 marks each. Answer to each
question should not exceed 120 words. SITHRT T — W57 H&AT| 27 F 31 EF ITLT T 6 T &, ™" &
TeIF § 5 3 g1 ek T &7 3¢ 120 9Tal | ATF Al 2T AT

6. Section E — Question no. 32 is map based, carrying 5 marks with two parts, 32.1 from History (2 marks) and
32.2 from Geography (3 marks).

RIS - W7 &1 32 A= TR g, &7 AR & A1 5 3% e, Tagrd & 32.1 (2 3F) 3T e 7 32.2 (3
) |

7. There is no overall choice in the question paper. However, an internal choice has been provided in few
questions. Only one of the choices in such questions have to be attempted. ST 95 | il THT [FFHed T&1 gl
SIATT, T TATAl H T A (aehed T FhaT 747 81 TF i § F ForeT U fasheT &7 & T3 AT gl
2l

8. In addition to this, separate instructions are given with each section and question, wherever necessary. T
SATAT, T ATHANT ST T o T AT -7 Haer w0 §, gt A7 smaew= 20

SECTION A
1X16=16

Q.1. Who Said, “’When France Sneezes, The Rest Of Europe Catches Cold”’? &&= g1, "S/a Whid EihaTl g
T 9 TIT Al HT S[HTH Bl S1aT gl1"
A) Lord Byron e 9@ B) T S Eliot 1 g ufere
C) Metternich = e D) Giuseppe TET
Q.2. What Was “Young Italy’? 3T Seafl "3T AT?
A) Vision Of Italy TTAT T faer B) Secret Society T g1
C) National Anthem Of Italy ~ Ze<ff &7 Trgi@ 9 D) None Of These TAH | ®IT Agl

Q.3. Champaran Satyagraha (1916) was launched by Gandhiji against
T Heag e faers o o = o -
A) (High revenue demand) Ig @M= B) (Indigo Planters) e T JTer




C) (Mill Owner) A mrferss D) (Salt Tax) THF T
Q.4. Which of the following type of resource is Fossil fuels:

9 | 9 A7 T Sared 2o 8
A) Biotic SIEED B) Potential AT
C) Non renewable R CIETR D) D) Renewable CEIETIR
Q.5 . Plantation agriculture is a type of — 99T FHfT e THE FTFA -

A) (Subsistance farming) REIETL B) (Commercial Farming) — aTTorST HY

C) (Mixed farming) e s D) (Farming) TeAT ThgAT
Q.6 .Primitive subsistence farming is also known as —3Tfe® FT HT w=: FHwam & St FEATITATE -

A) (A Mixed Farming) e s B) (Co Operative Farming) HgHT FfY

C) (Slash and Burning) T sl Tg4 D) (Commercial Farming) — ATfOTSTa o

Q.7 . Which of the following crops is a major resources of Protein in a vegetarian diet — =% % & &I ¥
T HF ARG SIS H TIET &l T&F &d & —
A) (Wheat) T B) (Rice) =& C) (Pulses) =aTet D) (Oil Seeds)

faerg

Q.8. Which of the following industries is in private sector? fR&ferfed & & &= AT I=T AT &5 &1 350
g2

(A) NALCO  (ATe=hT) (B) BHEL (9<T)

(C) SAIL (¥eT) (D) HINDALCO (fZ=Tes)

Q.9. How many times leaders of Belgium amended their constitution? ITesTara & qaTall F 79+ Gfagm &

ESGUEIEGEICCRER IV

A) Two times LIRS B) Three times SIGECES

C) Four times EIESCIE D) Ten times LSECIES

Q.10. Which ethnic group had the majority in Brussels? e ST 98 &1 [&ed | agad a2

A) French- speaking A dTA aTel B) Dutch —speaking T FA ATl
C) German —speaking ST ST ATer D) English —speaking SUSHT AT Tl

Q.11. Which one of the following large countries has not adopted federalism. T3 faremTer Tor 7 HeraTa i
[ IEARRC FARE T

A) 7.7H.T (US.A) B) =19 (China) C) s (India) D) sTstter (Brazil)

Q.12 Development of a country generally be determined by:

et o1 7 o sea e ox 9% gy e B Smar g :

A) Its per capita income TEehT I =A<k 3 B) lts literacy level € HTLLAT TAT

C) Health status ey fRafa D) All the above IULIh gt

Q.13. What should be the development goal of a rural landless labourer ?  Ta JTHIT THGIH AT T (T

T&T FIT ZIET ATRU?

A)More Freedom ST SreTTat

B) To Resent Discrimination HEATT &l §L HLA o (o7
C)More Work and Better Wages ATAF T AT ¥ TGl
D)Fight for Equal Rights THTA SATerHT o forw 2T

Q.14 The Tertiary sector is also known as — = &= &l T :  To6e AT & ST AT §



A) ITaSITH & ( Public Sector) B) fAsft &= (Private Sector)
C) 94T &% (Service Sector) D) r&Tfaa &= (Organized Sector)
Q.15. System of exchanging goods for goods is called: F&q # T& AFY AT -T&TH &l TUTAT I Fgl SATAT

g

(A) Monetary system ®TTsa STUTTeAT (B) Credit system #fee e

(C) Barter system a¥q fafqa sorreft (D) Exchange system fafaw=r srorrett

Q.16. Currency is issued by: aT foeeh FIRT AT AT STaT & 2

A)Prime Minister &I #=fY B) Reserve Bank Of India st =g d=

C) PMO . um. . D) Finance Minister ESEEL
SECTION B

(3X6=18)

[ e a

Q.17. Write any three changes brought by Napoleonic code. FHTToIaI= FTE FTT AT 7T fohegl oA
TREqHt & o
Q.18.What were the effects of first world war on India? #T3d 9% 92l fasa I T F4T  T9TF TET 2

Q.19. Write three characteristics of black soils. #Te(t gt T e fareroard ferfe)
Q.20. Describe any three steps taken by the government towards decentralization in the year 1992. a9 1992 &

faasTsRor 7 [T § I g7 31U U 1 FEHT FT 0T Fi
OR
Describe any three federal features of Indian democracy. ST S it =T T Fergroarsi
T A0 |

Q.21. In what respects is the criterion used by the UNDP for measuring development? Ju=idt T
HTIGUE] T ITANT Foh- e ATt & foraaT smar 82

Q.22. Write differences between organized sector and unorganized sector. TS & EATST &3 * 1=
Fqx forar

SECTIONC
(4x4=16)

Q.23. Read the source given below and answer the questions that follows:
Following the defeat of Napoleon in 1815, European governments were driven by a spirit of conservatism.
Conservatives believed that established, traditional institutions of state and society — like the monarchy, the
Church, social hierarchies, property and the family —should be preserved. Most conservatives, however, did not
propose a return to the society of pre-revolutionary days. Rather, they realised, from the changes initiated by
Napoleon, that modernisation could in fact strengthen traditional institutions like the monarchy. It could make
state power more effective and stronger. A modern army, an efficient bureaucracy, a dynamic economy, the
abolition of feudalism and serfdom could strengthen the autocratic monarchies of Europe. In 1815,
representatives of the European powers who had collectively defeated Napoleon, met at Vienna to draw up a
settlement for Europe. The Congress was hosted by the Austrian Chancellor Duke Metternich. The delegates
drew up the Treaty of Vienna of 1815 with the object of undoing most of the changes that had come about in
Europe during the Napoleonic wars. The Bourbon dynasty, which had been deposed during the French
Revolution, was restored to power, and France lost the territories it had annexed under Napoleon. A series of
states were set up on the boundaries of France to prevent French expansion in future.
Answer the following MCQs by choosing the most appropriate option :
23.1 Which of the following statements correctly describes about European conservative ideology?
A. Preservation of believes introduced by Napoleon



B. Preservation of two sects of Christianity

C. Preservation of socialist ideology in economic sphere

D. Preservation of traditionalist beliefs in state and society

23.2 Identify the purpose to convene the Vienna of Congress in 1815 from the following options?
A. To declare competition of German unification

B. To restore conservative regime in Europe

C. To declare war against France

D. To start the process of Italian Unification

23. 3. What did conservatives focus on at the Congress of Vienna? Select the appropriate option.
A. To re-establish peace and stability in Europe

B. To establish socialism in Europe

C. To introduce democracy in France

D. To set up a new Parliament in Austria

23.4 How did the Congress of Vienna ensure peace in Europe? Select the appropriate option.

A. With the restoration of Bourbon Dynasty

B. Austria was not given the control of Northern Italy

C. Laying out a balance of power between all the great powers in Europe

D. By giving power to the German confederation

= i o & #r g o A e F s |

1815 ¥ AUIrae il X & TR, LU TLHTL BI2dTg 0l qradT & Jfq off| feardt ama o & 757 &7
FHTST 0! ST, TRAE HeIT0 - ] TSAATal, T4, ATAT T, Ui T qTRa-aRar i §3ed
TRT ST ATR T gTeriieh, ATEaRTer TRaTaTadl o @ -FHidail [adl o THTST § ITIHT T TEdqTd qgl 3T
qfeeh, Iraid AgHA [T, Ao gy & 0 70 afiadar &, & srgfaderr aweaa § weremet s
TR HEATHI T TS(Gd T Thal gl Tg LT il TT<h &l STTereh TATAT ST TSI a7 Tl gl T e
AT, U FH9A ATRLLATT, Teh TAef ATEEAT, ATHTATE Sl STHFIAT T SegAT AT i (H4eT TSRl I
TSI T GhaT gl 1815 H, T orf<hdl & TTATEa F ar@s T & Fed &l 22T, T4 & o U6
AIATAT T o forw =T 7 e e #7 AifEears Fiaae =& ugia g giee AT @ om gia=e=y 1
1815 T fag=T &fdr &1 sarfua fohaT, e oo IET & 09 Z309 | S0 STfeehier IRaaHt &l @ad
FLAT AT| T Trora 9T, O S hifd o T geT (&dT T 9T, Fl J971 § T8I < AT 4T 97, 37T Hie
o I AT AT GV AT 9T, T AT F T2 IA FeotT ¢ foram o7 | afasT § wis et Sedqme &r T *
forT s T TS % ST T U F@AT T Hr T o)

T8 I9Ih e g Rt MCQ T sax ¢

23.1 Aot & & 19 A1 F99 AT Slearat A=y & a7 § 9t a0 wedl 82

A. AR GTRT % o0 0 TeaTe T §3eqor

B. HTS ¥ * a1 HUQTAT T HLEAT

C. oI &= § qHTsraral A= HiT §&0

D. TT57 3T TS § TLALaTal HIeAqral T e

23.2 MHTeied fEsedi # & 1815 H I o (oaaT &l FoT o 329 Tl TgaTT FHii?

A. STHT TR i TIAATRIET &t SO et

B. AT H EleaTar ATET &l T e o o7




C. ¥ & e I =l F90IT A o oy
D. SATAAT TR sl TTEHAT 9[F HTAT
23. 3. o= &t R | wigarar g 92 Fitad 92 ST [AFheT &7 997 F7)

A. TUT ¥ orifa i feormar &1 fhr & worfua & & form

B. TIIT H FHISIATE il TTIAT & oI

C. %\ ® A= 7 U=g 2 & form

D. fif®aT # U % HHe w1 FA & o

23.4 =T &1 F109 7 0T F orifa &9 giafea 2 1 BT a1 =399 w2
A. TS TSTE9T T TRTAT o q1F

B. SAT®eAT T ITALT oA 0T HFFT AT foaT 12w o

C. TUT =t gt 7T orf<Ai & = 91f<h T HAT a7

D. STHT 9 &l o1f<F a7

Q.24. Read the source given below and answer the questions that follows:
Sugar Industry:

India stands second as a world producer of sugar but occupies the first place in the production of gur and
khandsari. The raw material used in this industry is bulky, and in haulage its sucrose content reduces. The mills
are located in Uttar Pradesh, Bihar, Maharashtra, Karnataka, Tamil Nadu, Andhra Pradesh, Gujarat, Punjab,
Haryana and Madhya Pradesh. Sixty per cent mills are in Uttar Pradesh and Bihar. This industry is seasonal in
nature so, it is ideally suited to the cooperative sector. Can you explain why this is so? In recent years, there is a
tendency for the mills to shift and concentrate in the southern and western states, especially in Maharashtra,
This is because the cane produced here has a higher sucrose content. The cooler climate also ensures a longer
crushing season. Moreover, the cooperatives are more successful in these states. Major challenges include the
seasonal nature of the industry, old and inefficient methods of production, transport delay in reaching cane to
factories and the need to maximise the use of baggase.

24.A- What are the reasons tendency for the mills to shift in the Southern and Western states?

24.B- Which country is second largest producers of the sugar in the world?

24.C- What is raw materials of sugar industry?

24.D- Name the few producing states of sugar.

T U T A #r O S} A e ¥ Se e

T =T

AT AT o [9d STATEH o €T H L T I g, ATehd [ ST G & ScaTad § gl &479 9% g1 9
ST § ITANT AT ST ATAT HgT 7T AT 8, 3T TATs § SHenl Gohist ATl 7 gl STt gl e 39 9aeT,
g, AgTg, FleH, ATHAATg, STel TR9T, TOITd, ISTTd, FIATOT Sl Fe7 Taer § f2orq g1 A1e hredt et
ST V9T Y g 7 €1 T AN THid § ATTHT g, ST Tg AR T H g1l &7 6 AqD0 gl FAT T
AT TR & 1o UET FAT 82 BT o a1 |, FTer0ft i Ifendy Trsa, areaey qgrg ® el T eqated e
ST AT hiad HTA =l TG &, THHT HI0T TG g o6 TST IcATTad T H IFAL ol AT ZIaT gl FeAL a0t
AT AT A THT Toh FAAT AT HIEH ] AT FLAT gl THeh STATAT, HghTl AHTTAT S AT H ATeH
THA &1 T@ FAAAT § SR 6l FTEHT TH(, ST 6 T ST TETH TLh, FIREET T T % Tgad &
iEgd H aXT A SRIST o STANT T SATHAH HLA il ATFLTHAT ATHA Bl

24 A- ZFeroft sire afendY Trsat & el T T aiaid i & o7 97 I 82

24.B- =g ® VT T T FaH FET ICHTEH i A7 297 82

24.C- ST IR T FgT qTA FT 872

24.D- HIAT & T IcqTa TsF1 T 417 130
Q.25. Read the following passage and answer the questions given below:




Indian National Congress (INC): One of the oldest parties of the world. Founded in 1885. Played a dominant
role in Indian politics at the national and state level for several decades after India’s Independence. Under the
leadership of Jawaharlal Nehru, the party sought to build a modern secular democratic republic in India. Ruling
party at the centre till 1977 and then from 1980 to 1989. After 1989, its support declined, but it continues to be
present throughout the country, cutting across social divisions. A centrist party (neither rightist nor leftist) in its
ideological orientation, the party espouses secularism and welfare of weaker sections and minorities. Supports
new economic reforms but with a human face. From 2004 to 2014, United Progressive Alliance, a coalition of
Congress with several regional parties, formed the Indian government led by Manmohan Singh, the Prime
Minister as the head of the coalition government. Lost elections in 2014 & 2019 and is the principal opposition
party in the Lok Sabha.
A) In which year INC was founded?
B) Name the alliance which was led by INC during 2004 to 2014.
C) Which political party ruled at the centre till 19777
D) Who was the Prime Minister of India during 2004 to 2014?
eferfera e a2 s S fow o et % s
AT TS FUE (INC): AT T Fad T aTiedt § & Uah| THA! €197 1885 # g2 o7 A1 =hr
TIGAAAT 6 F13 s I9T T TP A TT T I ATLAT TS | TH THE AT [T T dgs
& Aqcd |, ITET T AT § Uk el gHTTe AT (=1 TUTST a1 i T #f| 1977 i 39 a12 1980
o 1989 T g § HATATLN ITEf Tl | 1989 & aT7, T GHAT H Rirde s, ofehd I8 I 39T H HISE =,
AT fr9TST T FTed U1 UF Faardl 91t (7 a7 aferord=f v 7 g7 amust) s J=mhes SeqEa
H, ITET F gHATILAT S FAS a0 31T ACTHESART o FHeIT0 & (10| T A1 AT HT GHHH FaT &
AT U AATT =Y % 9T 2004 | 2014 T, HI<H WAl Toaed, FT &= I o qTF FIUE HT
TEFYT, TG (68 & Aqcd § HILd HLERTL T T (AT, TS TEhTE & T 6 &9 H TIEHAT| 2014 37
2019 ¥ FATH g T ¥ AHHAT § @ fAaeft 9t g
e fore o INC &t =ormoeT g2 o2
) 2004 7 2014 % I HUF T Aqcd [T TU [5G HT ATH 130
) fore TR &1 7 1977 T g § 9a fham?
¥) 2004 F 2014 F TLTF AT F TATTHAT I I?
Q.26. Read the following graph and answer the questions given below: R am% 72 i = fRw

T 957 & AL &

GRAPH- GDP by Primary, Secondary and
lertiary Sectors
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Answer the following questions by looking at the graph:
1. Which was the largest producing sector in 1973?



2. Which is the largest producing sector in 2003?
3. Can you say which sector has grown the most over thirty years?
4. What was the GDP of India in 2003?

T T S@HY (AT I o 3T a0

1973 § TaH FET IcHTEH &FF  HiT T2

2003 ¥ TaH IET IATEH &3AF i AqT?

. AT ST a7 o @ 1o 1E qul § [l &1 § e S8 g ga?
2003 ¥ 9T A A=At #AT g ?

Sw N

SECTION D
(5x5=25)
Q.27. “This sense of collective belonging came partly through the experience of united struggle
role of folklore, song, icons & image” Analyze the statement? F!T{%‘ch' e T AZ ATAAT ATAF
& & AR, T, T 37T e 7 Uohsle T ST & STAT o AT & 3 T
TATT T For 3?2

OR (37¥dT)
Describe the significance of Civil disobedience Movement in the freedom struggle in India. \Tea &

TAAAAT GATH H AT AT STaTAT o Hged T I FHi|
Q.28. Compare the geographical conditions, required of the two major cereal crops in India,
rice and wheat. Give one major area where they are grown. T H I THE S(ATSI BHAT ATaA
ST g T A@LTH AT TREATAAT i AT e, TH-TFh T@ & Jaq13 STgf F MY
ST 2
Q.29. Describe the different forms of power-sharing in modern democracies. Give an example
of each of these. sTe[fe Fha=Tt | erfxh-seary & faf=r =97 7 quiT F7)| A8 & T4F FT
T 3&Tg<0 &l
Q.30. What are the various challenges faced by political parties? TTSTITash et &l fohet fATH= FATTAAT
T FTAAT FHIAT TEAT 872
Q.31. How does the Reserve Bank of India supervise the functioning of banks? Why is this Necessary?
ared T RSt §, S o FTHHRTST 6T ARTOHT 69 FTar 82 UAT <l #4971 87
OR (37¥T)

What is double coincidence of want? How has money solved this problem?
ATAITRATIAT T I GANT FAT g2 TH 7 TH THEAT Tl FF gl (AT g2
SECTION-E

MAP SKILL BASED QUESTION
(2+3=5)

Q.32.-1 Two places A and B have been marked on the given outline map of India.

Identify them and write their correct names on the lines drawn near them

A. Indian National Congress session at this place in 1927.

B. Mahatma Gandhi organized a Satyagraha Movement at this place for indigo planters.

Q.32.-2 On the same outline map of India locate and label any THREE of the following with suitable
Symbols.

A. Rana Pratap Sagar Dam

B. Kakrapara Nuclear Power Plant

C. Bailadila iron ore mines



D. Digboi Oilfield
E. Naraura Nuclear Power Plant

Q.32.-1 =T TITET A 3T B &I WA o A0 70 ot qrat== q¥ f=ieaa B =@ g
I7g TgATH S gl A1 g
A) 1927 § TH TITH U AT LI HIUH HT AT g7 2T
B) WETcHT Wit 7 AT IcATaeh! o [olT =6 TAT I¥ TG AR [T 9T
Q.32.-2 9qTEq & IHT A= ¥ = forfea & 9 #8 7w & gorizsu-
) TTUT TS qEE e
) FTRLIT TLATI Sl 1 37T
) SATIRHAT AT ATEH &
T) fewrars aeengs e
)

LT TEAT] ol &3

A

pal|
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